To calculate the CADR of an air purifier multiply the CADR/Cubic Feet by the volume of the test room in cubic feet

Example: If it takes 9 minutes for the Dylos readings to drop in half (50% of start value) in the test room then the CADR/Cubic Feet = .0770 per the table
if the test room is 10ft by 10ft with 8 ft ceiling then the test room is 10x10x8 = 800 Cubic Feet. So, the air purifier CADR is 800 x .0770 = 61.6

Note: If the test were continued for another 9 minutes the readings should drop by half again and sure enough the 25% row at 18 minutes is also .0770
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Table of CADR/Cubic Feet of Test Room

minutes to reach % of Start

4 5 6 7 8
0.0128 0.0103 0.0085 0.0073 0.0064
0.0263 0.0211 0.0176 0.0151 0.0132
0.0406 0.0325 0.0271 0.0232 0.0203
0.0558 0.0446 0.0372 0.0319 0.0279
0.0719 0.0575 0.0479 0.0411 0.0360
0.0892 0.0713 0.0594 0.0510 0.0446
0.1077 0.0862 0.0718 0.0615 0.0538
0.1277 0.1022 0.0851 0.0730 0.0639
0.1495 0.1196 0.0996 0.0854 0.0747
0.1733 0.1386 0.1155 0.0990 0.0866
0.1996 0.1597 0.1331 0.1141 0.0998
0.2291 0.1833 0.1527 0.1309 0.1145
0.2625 0.2100 0.1750 0.1500 0.1312
0.3010 0.2408 0.2007 0.1720 0.1505
0.3466 0.2773 0.2310 0.1980 0.1733
0.4024 0.3219 0.2682 0.2299 0.2012
0.4743 0.3794 0.3162 0.2710 0.2371
0.5756 0.4605 0.3838 0.3289 0.2878
0.7489 0.5991 0.4993 0.4280 0.3745
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0.0117
0.0181
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0.0568
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0.0051 0.0047
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0.0223 0.0203
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0.1609 0.1463
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0.0081 0.0075 0.0070
0.0125 0.0116 0.0108
0.0172 0.0159 0.0149
0.0221 0.0205 0.0192
0.0274 0.0255 0.0238
0.0331 0.0308 0.0287
0.0393 0.0365 0.0341
0.0460 0.0427 0.0399
0.0533 0.0495 0.0462
0.0614 0.0570 0.0532
0.0705 0.0654 0.0611
0.0808 0.0750 0.0700
0.0926 0.0860 0.0803
0.1066 0.0990 0.0924
0.1238 0.1150 0.1073
0.1459 0.1355 0.1265
0.1771 0.1645 0.1535
0.2304 0.2140 0.1997

16 17
0.0032 0.0030
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0.0573 0.0539
0.0656 0.0618
0.0752 0.0708
0.0866 0.0815
0.1006 0.0947
0.1186 0.1116
0.1439 0.1354
0.1872 0.1762

Chart of CADR/Cubic Feet of Test Room vs Time to 50% of Start Concentration
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The Number of Minutes it takes for the Dylos Monitor Readings to fall to 50% of Starting Value
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